# MULTIPLE POSITIVE SOLUTIONS FOR A SCHRÖDINGER-NEWTON SYSTEM WITH SINGULARITY AND CRITICAL GROWTH 

CHUN-YU LEI, HONG-MIN SUO, CHANG-MU CHU

Communicated by Paul H. Rabinowitz


#### Abstract

In this work, we study a class of Schrödinger-Newton systems with singular and critical growth terms in unbounded domains. By using the variational methods and the Brézis-Lieb 6] classical technique, the existence and multiplicity of positive solutions are established.


## 1. Introduction and statement of main result

In this work, we are concerned with the existence and multiplicity of positive solutions to the Schrödinger-Newton system

$$
\begin{gather*}
-\Delta u=\lambda g(x) u^{-\gamma}+\phi|u|^{2^{*}-3} u, \quad \text { in } \mathbb{R}^{N} \\
-\Delta \phi=|u|^{2^{*}-1}, \quad \text { in } \mathbb{R}^{N},  \tag{1.1}\\
u>0, \quad \text { in } \mathbb{R}^{N},
\end{gather*}
$$

where $N \geq 3, \gamma \in(0,1)$ and $\lambda>0$ is a real parameter and $g \in L^{\frac{2^{*}}{2^{*}+\gamma-1}}\left(\mathbb{R}^{N}\right)$ is a nonnegative function.

This system is derived from the Schrödinger-Poisson system

$$
\begin{gather*}
-\Delta u+V(x) u+\eta \phi f(u)=h(x, u), \quad \text { in } \mathbb{R}^{3}, \\
-\Delta \phi=2 F(u), \quad \text { in } \mathbb{R}^{3} . \tag{1.2}
\end{gather*}
$$

Systems as 1.2 have been studied extensively by many researchers because 1.2 has a strong physical meaning, which describes quantum particles interacting with the electromagnetic field generated by the motion. For more details as regards the physical relevance of the Schrödinger-Poisson system, we refer to [1, 4, 20. System (1.2) has been extensively studied after the seminal work of Benci and Fortunato 4]. Many important results concerning existence of positive solutions, ground state solutions and multiplicity of solutions, least energy solutions, and so on, have been reported; see for instance [2, 3, 5, 7, 8, 9, 10, 14, 15, 16, 17, 18, 19, 21, 22, 23, 30, 31, 32] and the references therein.

[^0]There are some references which investigated Schrödinger-Poisson systems involving the critical growing nonlocal term, such as [2, 3, 15, 18]. Precisely, in bounded domains, the system

$$
\begin{gathered}
-\Delta u+\varepsilon q \phi f(u)=\eta|u|^{p-1} u, \quad \text { in } \Omega \\
-\Delta \phi=2 q F(u), \quad \text { in } \Omega \\
u=\phi=0, \quad \text { in } \partial \Omega
\end{gathered}
$$

was considered in [15], where $\Omega \subset \mathbb{R}^{N}(N \geq 3)$ is a smooth bounded domain, and the existence and multiplicity results were established when $f$ a subcritical growth condition or the critical growth case by using the methods of a cut-off function and the variational arguments. In [3], the following system involving the critical growing nonlocal term was also considered

$$
\begin{gathered}
-\Delta u=\lambda u+\phi|u|^{2^{*}-3} u, \quad \text { in } \Omega, \\
-\Delta \phi=|u|^{2^{*}-1}, \quad \text { in } \Omega, \\
u=\phi=0, \quad \text { in } \partial \Omega .
\end{gathered}
$$

They proved the existence and nonexistence results of positive solutions when $N=3$ and existence of solutions in both the resonance and the non-resonance case for higher dimensions

Specially, in unbounded domains, Liu [18] studied the system

$$
\begin{gathered}
-\Delta u+V(x) u=K(x) \phi|u|^{3} u+h(x, u), \quad \text { in } \mathbb{R}^{3}, \\
-\Delta \phi=K(x)|u|^{5}, \quad \text { in } \mathbb{R}^{3}
\end{gathered}
$$

where $V, K, h$ are asymptotically periodic functions, and a positive solution was obtained by using variational methods.

Recently, in a bounded domain, in 31, the following system involving weak singularity was studied

$$
\begin{gathered}
-\Delta u+\eta \phi u=\mu u^{-\gamma}, \quad \text { in } \Omega, \\
-\Delta \phi=u^{2}, \quad \text { in } \Omega, \\
u>0, \quad \text { in } \Omega, \\
u=\phi=0, \quad \text { on } \partial \Omega .
\end{gathered}
$$

The existence, uniqueness and multiplicity of positive solutions for the above system are obtained in the case when $\eta= \pm 1$ by employing the Nehari manifold.

In bounded domains, the singular semilinear elliptic problem

$$
\begin{gathered}
-\Delta u=\lambda f(x) u^{-\gamma}+\mu h(x) u^{p}, \quad \text { in } \Omega, \\
u>0, \quad \text { in } \Omega, \\
u=0, \quad \text { on } \partial \Omega,
\end{gathered}
$$

has been extensively studied. For example, Yang [29] obtained the multiplicity positive solutions by combining variational and sub-supersolution methods when $0<\gamma<1<p \leq \frac{N+2}{N-2}, f=\mu h=1, \lambda$ enough small. In the case when $0<\gamma<$ $1<p \leq \frac{N+2}{N-2}$ and $h=1, \lambda=1$ and $\mu$ enough small, Sun and Wu [25] also got two positive solutions by employing the Nehari manifold provided $\mu$ enough small. In [13], Hirano et al. studied the existence of multiple positive solutions in the case of $0<\gamma \leq 1<p \leq \frac{N+2}{N-2}, \mu>0$. When $\Omega=\mathbb{R}^{N}$, we should mention that semilinear
elliptic equations involving singular and subcritical growth terms have been dealt with by a number of authors, see for example, [12, 24] and the references therein.

Motivated by the above facts, to the best of our knowledge, there are no results on the multiplicity of positive solutions for Schrödinger-Newton system involving critical and weak singular nonlinearities on unbounded domains. We shall give a positive answer to this question. Our main result reads as follows.

Theorem 1.1. Assume that $\gamma \in(0,1)$. Then there exists $\lambda_{*}>0$ such that for any $\lambda \in\left(0, \lambda_{*}\right)$, system (1.1) has at least two positive solutions $\left(u, \phi_{u}\right) \in D^{1,2}\left(\mathbb{R}^{N}\right) \times$ $D^{1,2}\left(\mathbb{R}^{N}\right)$, and one of the solutions is a positive ground state solution.

Throughout this paper, we use the following notation:

- The space $D^{1,2}\left(\mathbb{R}^{N}\right)=\left\{u \in L^{2^{*}}\left(\mathbb{R}^{N}\right): \frac{\partial u}{\partial x_{i}} \in L^{2}\left(\mathbb{R}^{N}\right)\right\}$ endowed with the norm $\|u\|^{2}=\int_{\mathbb{R}^{N}}|\nabla u|^{2} d x$. The norm in $L^{p}\left(\mathbb{R}^{N}\right)$ is denoted by $|\cdot|_{p}$;
- $C, C_{1}, C_{2}, \ldots$ denote various positive constants, which may vary from line to line;
- Let $S$ be the best constant for Sobolev embedding $D^{1,2}\left(\mathbb{R}^{N}\right) \hookrightarrow L^{2^{*}}\left(\mathbb{R}^{N}\right)$, namely

$$
S=\inf _{u \in D^{1,2}\left(\mathbb{R}^{N}\right) \backslash\{0\}} \frac{\int_{\mathbb{R}^{N}}|\nabla u|^{2} d x}{\left(\int_{\mathbb{R}^{N}}|u|^{2^{*}} d x\right)^{\frac{2}{2^{*}}}} .
$$

2. Existence of the first positive solution of system 1.1

The energy functional associated with system 1.1 is defined as

$$
\begin{aligned}
I_{\lambda}(u) & =\frac{1}{2}\|u\|^{2}-\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x-\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x \\
& =\frac{1}{2}\|u\|^{2}-\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x-\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}}\left|\nabla \phi_{u}\right|^{2} d x .
\end{aligned}
$$

In general, a function $u \in D^{1,2}\left(\mathbb{R}^{N}\right)$ is called a solution of system 1.1), that is ( $u, \phi_{u}$ ) is a solution of system 1.1 and $u>0$ enjoying

$$
\int_{\mathbb{R}^{N}}(\nabla u, \nabla v) d x-\lambda \int_{\mathbb{R}^{N}} g(x) u^{-\gamma} v d x-\int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-3} u v d x=0, \quad \forall v \in D^{1,2}\left(\mathbb{R}^{N}\right)
$$

It is well known that the singular term leads to the non-differentiability of the functional $I_{\lambda}$ on $D^{1,2}\left(\mathbb{R}^{N}\right)$, therefore system 1.1 cannot be considered by using critical point theory directly. In order to obtain the multiple positive solutions of system (1.1), we consider a set

$$
\mathcal{N}_{\lambda}=\left\{u \in D^{1,2}\left(\mathbb{R}^{N}\right):\|u\|^{2}-\lambda \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x-\int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x=0\right\}
$$

and split $\mathcal{N}_{\lambda}$ as follows:

$$
\begin{aligned}
& \mathcal{N}_{\lambda}^{+}=\left\{u \in \mathcal{N}_{\lambda}: \psi(u)>0\right\}, \\
& \mathcal{N}_{\lambda}^{0}=\left\{u \in \mathcal{N}_{\lambda}: \psi(u)=0\right\}, \\
& \mathcal{N}_{\lambda}^{-}=\left\{u \in \mathcal{N}_{\lambda}: \psi(u)<0\right\},
\end{aligned}
$$

where

$$
\psi(u)=2\|u\|^{2}-\lambda(1-\gamma) \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x-2\left(2^{*}-1\right) \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x
$$

Before proving our Theorem 1.1, we recall the following lemma (see [3]).

Lemma 2.1. For every $u \in D^{1,2}\left(\mathbb{R}^{N}\right)$, there exists a unique $\phi_{u} \in D^{1,2}\left(\mathbb{R}^{N}\right)$ solution of

$$
-\Delta \phi=|u|^{2^{*}-1}, \quad \operatorname{in} \mathbb{R}^{N}
$$

Also
(1) $\phi_{u} \geq 0$ for $x \in \mathbb{R}^{N}$.
(2) For each $t \neq 0, \phi_{t u}=t^{2^{*}-1} \phi_{u}$.

$$
\begin{equation*}
\int_{\Omega} \phi_{u}|u|^{2^{*}-1} d x=\int_{\Omega}\left|\nabla \phi_{u}\right|^{2} d x \leq S^{-2^{*}}\|u\|^{2\left(2^{*}-1\right)} \tag{3}
\end{equation*}
$$

(4) Assume that $u_{n} \rightharpoonup u$ in $D^{1,2}\left(\mathbb{R}^{N}\right)$, then

$$
\int_{\mathbb{R}^{N}} \phi_{u_{n}}\left|u_{n}\right|^{2^{*}-1} d x-\int_{\mathbb{R}^{N}} \phi_{u_{n}-u}\left|u_{n}-u\right|^{2^{*}-1} d x=\int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x+o_{n}(1)
$$

Set

$$
\Lambda_{0}=|g|_{\frac{2^{*}}{-1}}^{2^{*}+\gamma-1} \frac{2\left(2^{*}-2\right) S^{\frac{1-\gamma}{2}}}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma) S^{2^{*}}}{\left(2 \cdot 2^{*}+\gamma-3\right)}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}}
$$

Lemma 2.2. Assume $\lambda \in\left(0, \Lambda_{0}\right)$. Then (1) $\mathcal{N}_{\lambda}^{ \pm} \neq \emptyset$ and (2) $\mathcal{N}_{\lambda}^{0}=\{0\}$.
Proof. (i) For each $u \in D^{1,2}\left(\mathbb{R}^{N}\right) \backslash\{0\}$, we have

$$
\begin{aligned}
& t\left[\frac{d}{d t} I_{\lambda}(t u)\right] \\
& =t^{2}\|u\|^{2}-\lambda t^{1-\gamma} \int_{\mathbb{R}^{N^{2}}} g(x)|u|^{1-\gamma} d x-t^{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x \\
& =t^{1-\gamma}\left[t^{1+\gamma}\|u\|^{2}-t^{2 \cdot 2^{*}+\gamma-3} \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x-\lambda \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x\right]
\end{aligned}
$$

Set

$$
\Gamma(t)=t^{1+\gamma}\|u\|^{2}-t^{2 \cdot 2^{*}+\gamma-3} \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x, t \geq 0
$$

We see that $\Gamma(0)=0$ and $\lim _{t \rightarrow \infty} \Gamma(t)=-\infty$. Then $\Gamma$ achieves its maximum at

$$
t_{\max }=\left[\frac{(1+\gamma)\|u\|^{2}}{\left(2 \cdot 2^{*}+\gamma-3\right) \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x}\right]^{\frac{1}{2\left(2^{*}-2\right)}},
$$

and so,

$$
\Gamma\left(t_{\max }\right)=\frac{2\left(2^{*}-2\right)\|u\|^{2}}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma)\|u\|^{2}}{\left(2 \cdot 2^{*}+\gamma-3\right) \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}} .
$$

Consequently,

$$
\begin{align*}
& \Gamma\left(t_{\max }\right)-\lambda \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x \\
& =\frac{2\left(2^{*}-2\right)\|u\|^{2}}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma)\|u\|^{2}}{\left(2 \cdot 2^{*}+\gamma-3\right) \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}}-\lambda \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x \\
& \geq \frac{2\left(2^{*}-2\right)\|u\|^{2}}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma) S^{2^{*}}\|u\|^{2}}{\left(2 \cdot 2^{*}+\gamma-3\right)\|u\|^{2\left(2^{*}-1\right)}}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}}-\lambda|g|_{\frac{2^{*}}{2^{*}+\gamma-1}} S^{-\frac{1-\gamma}{2}}\|u\|^{1-\gamma} \\
& =\left\{\frac{2\left(2^{*}-2\right)}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma) S^{2^{*}}}{\left(2 \cdot 2^{*}+\gamma-3\right)}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}}-\lambda|g|_{\frac{2^{*}}{2^{*}+\gamma-1}} S^{-\frac{1-\gamma}{2}}\right\}\|u\|^{1-\gamma}>0, \tag{2.1}
\end{align*}
$$

the last inequality holds provided $0<\lambda<\Lambda_{0}$. Consequently, there exactly exist two points $0<t_{u}^{+}<t_{\max }<t_{u}^{-}$such that

$$
\Gamma\left(t_{u}^{+}\right)=\Gamma\left(t_{u}^{-}\right)=\lambda \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x, \Gamma^{\prime}\left(t_{u}^{+}\right)>0>\Gamma^{\prime}\left(t_{u}^{-}\right)
$$

which imply that $t_{u}^{+} u \in \mathcal{N}_{\lambda}^{+}, t_{u}^{-} u \in \mathcal{N}_{\lambda}^{-}$. That is, $\mathcal{N}_{\lambda}^{ \pm} \neq \emptyset$.
(ii) We prove (ii) by contradiction, suppose that there exists $u_{0} \neq 0$ such that $u_{0} \in \mathcal{N}_{\lambda}^{0}$, similar to 2.1), it holds that

$$
\begin{aligned}
0< & \left\{\frac{2\left(2^{*}-2\right)}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma) S^{2^{*}}}{\left(2 \cdot 2^{*}+\gamma-3\right)}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}}-\lambda|g|_{\frac{2^{*}}{2^{*}+\gamma-1}} S^{-\frac{1-\gamma}{2}}\right\}\left\|u_{0}\right\|^{1-\gamma} \\
\leq & \frac{2\left(2^{*}-2\right)\left\|u_{0}\right\|^{2}}{2 \cdot 2^{*}+\gamma-3}\left[\frac{(1+\gamma)\left\|u_{0}\right\|^{2}}{\left(2 \cdot 2^{*}+\gamma-3\right) \int_{\mathbb{R}^{N}} \phi_{u_{0}}\left|u_{0}\right|^{2^{*}-1} d x}\right]^{\frac{1+\gamma}{2\left(2^{*}-2\right)}} \\
& -\lambda \int_{\mathbb{R}^{N}} g(x)\left|u_{0}\right|^{1-\gamma} d x=0
\end{aligned}
$$

this is a contradiction, thereby $\mathcal{N}_{\lambda}^{0}=\{0\}$ for $\lambda \in\left(0, \Lambda_{0}\right)$. The proof is complete.
Lemma 2.3. The functional $I_{\lambda}$ is coercive and bounded below on $\mathcal{N}_{\lambda}$.
Proof. Suppose $u \in \mathcal{N}_{\lambda}$, then by Sobolev inequality,

$$
\begin{aligned}
I_{\lambda}(u) & =\frac{1}{2}\|u\|^{2}-\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x-\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x \\
& =\frac{2^{*}-2}{2\left(2^{*}-1\right)}\|u\|^{2}-\lambda\left[\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right] \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x \\
& \geq \frac{2}{N+2}\|u\|^{2}-\lambda\left[\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right]|g|_{\frac{2^{*}}{2^{*}+\gamma-1}} S^{-\frac{1-\gamma}{2}}\|u\|^{1-\gamma},
\end{aligned}
$$

as $0<\gamma<1$, it follows that $I_{\lambda}$ is coercive and bounded below on $\mathcal{N}_{\lambda}$.
We remark that by Lemma 2.2 we have $\mathcal{N}_{\lambda}=\mathcal{N}_{\lambda}^{+} \cup \mathcal{N}_{\lambda}^{-} \cup \mathcal{N}_{\lambda}^{0}$ for all $\lambda \in\left(0, \Lambda_{0}\right)$. Moreover, we know that $\mathcal{N}_{\lambda}^{+}$and $\mathcal{N}_{\lambda}^{-}$are non-empty and by Lemma 2.3 we may define

$$
\alpha_{\lambda}=\inf _{u \in \mathcal{N}_{\lambda}} I_{\lambda}(u), \quad \alpha_{\lambda}^{+}=\inf _{u \in \mathcal{N}_{\lambda}^{+}} I_{\lambda}(u), \quad \alpha_{\lambda}^{-}=\inf _{u \in \mathcal{N}_{\lambda}^{-}} I_{\lambda}(u)
$$

Lemma 2.4. $\alpha_{\lambda} \leq \alpha_{\lambda}^{+}<0$.
Proof. Assume $u \in \mathcal{N}_{\lambda}^{+}$. Then

$$
\int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x<\frac{1+\gamma}{2 \cdot 2^{*}+\gamma-3}\|u\|^{2}
$$

so that

$$
\begin{aligned}
I_{\lambda}(u) & =\frac{1}{2}\|u\|^{2}-\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x-\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x \\
& =\left(\frac{1}{2}-\frac{1}{1-\gamma}\right)\|u\|^{2}+\left(\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right) \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x \\
& <\left[\left(\frac{1}{2}-\frac{1}{1-\gamma}\right)+\left(\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right) \frac{1+\gamma}{2 \cdot 2^{*}+\gamma-3}\right]\|u\|^{2} \\
& =\left[-\frac{1+\gamma}{2(1-\gamma)}+\frac{1+\gamma}{2\left(2^{*}-1\right)(1-\gamma)}\right]\|u\|^{2}
\end{aligned}
$$

$$
=-\frac{\left(2^{*}-2\right)(1+\gamma)}{2\left(2^{*}-1\right)(1-\gamma)}\|u\|^{2}<0
$$

By the definitions of $\alpha_{\lambda}$ and $\alpha_{\lambda}^{+}$, one obtains $\alpha_{\lambda} \leq \alpha_{\lambda}^{+}<0$.
Lemma 2.5. For $u \in \mathcal{N}_{\lambda}$ (respectively $\mathcal{N}_{\lambda}^{-}$), there exist $\varepsilon>0$ and a continuous function $f=f(w)>0, w \in D^{1,2}\left(\mathbb{R}^{N}\right),\|w\|<\varepsilon$ satisfying

$$
f(0)=1, \quad f(w)(u+w) \in \mathcal{N}_{\lambda} \quad\left(\text { respectively } \mathcal{N}_{\lambda}^{-}\right)
$$

for all $w \in D^{1,2}\left(\mathbb{R}^{N}\right),\|w\|<\varepsilon$.
Proof. For $u \in \mathcal{N}_{\lambda}$, define $F: \mathbb{R} \times D^{1,2}\left(\mathbb{R}^{N}\right) \rightarrow \mathbb{R}$ by

$$
\begin{aligned}
F(t, w)= & t^{2}\|u+w\|^{2}-t^{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{u+w}|u+w|^{2^{*}-1} d x \\
& -\lambda t^{1-\gamma} \int_{\mathbb{R}^{N}} g(x)|u+w|^{1-\gamma} d x
\end{aligned}
$$

Since $u \in \mathcal{N}_{\lambda}$, it is easily obtained that $F(1,0)=0$ and

$$
F_{t}(1,0)=2\|u\|^{2}-2\left(2^{*}-1\right) \int_{\mathbb{R}^{N}} \phi_{u}|u|^{2^{*}-1} d x-\lambda(1-\gamma) \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x
$$

As $u \neq 0$, by Lemma 2.2 , we know that $F_{t}(1,0) \neq 0$. Thus, we can apply the implicit function theorem at the point $(0,1)$, and obtain $\varepsilon>0$ and a continuous function $f: B(0, \varepsilon) \subset D^{1,2}\left(\mathbb{R}^{N}\right) \rightarrow \mathbb{R}^{+}$satisfying

$$
f(0)=1, \quad f(w)>0, \quad f(w)(u+w) \in \mathcal{N}_{\lambda}
$$

for all $w \in D^{1,2}\left(\mathbb{R}^{N}\right)$ with $\|w\|<\varepsilon$.
The case $u \in \mathcal{N}_{\lambda}^{-}$can be obtained in the same way. The proof is complete.
Lemma 2.6. If $\left\{u_{n}\right\} \subset \mathcal{N}_{\lambda}$ is a minimizing sequence of $I_{\lambda}$, for each $\phi \in D^{1,2}\left(\mathbb{R}^{N}\right)$ , it holds

$$
\begin{equation*}
-\frac{\left|f_{n}^{\prime}(0)\right|\left\|u_{n}\right\|+\|\varphi\|}{n} \leq\left\langle J^{\prime}\left(u_{n}\right), \varphi\right\rangle \leq \frac{\left|f_{n}^{\prime}(0)\right|\left\|u_{n}\right\|+\|\varphi\|}{n} \tag{2.2}
\end{equation*}
$$

where

$$
\left\langle J^{\prime}\left(u_{n}\right), \varphi\right\rangle=\int_{\mathbb{R}^{N}}\left(\nabla u_{n}, \nabla \varphi\right) d x-\int_{\mathbb{R}^{N}} \phi_{u_{n}} u_{n}^{2^{*}-2} \varphi d x-\lambda \int_{\mathbb{R}^{N}} g(x) u_{n}^{-\gamma} \varphi d x
$$

Proof. According to Lemma 2.3, $I_{\lambda}$ is coercive on $\mathcal{N}_{\lambda}$. Applying Ekeland's variational principle, there exists a minimizing sequence $\left\{u_{n}\right\} \subset \mathcal{N}_{\lambda}$ of $I_{\lambda}$ such that

$$
\begin{equation*}
I_{\lambda}\left(u_{n}\right)<\alpha_{\lambda}+\frac{1}{n}, \quad I_{\lambda}(v)-I_{\lambda}\left(u_{n}\right) \geq-\frac{1}{n}\left\|v-u_{n}\right\|, \quad \forall v \in \mathcal{N}_{\lambda} \tag{2.3}
\end{equation*}
$$

Based on $I_{\lambda}\left(\left|u_{n}\right|\right)=I_{\lambda}\left(u_{n}\right)$, we may assume that $u_{n} \geq 0$ in $\mathbb{R}^{N}$, and there exist a subsequence (by denoted itself) and $u_{*}$ in $D^{1,2}\left(\mathbb{R}^{N}\right)$ such that

$$
\begin{gathered}
u_{n} \rightharpoonup u_{*} \quad \text { weakly in } D^{1,2}\left(\mathbb{R}^{N}\right) \\
u_{n}(x) \rightarrow u_{*}(x) \quad \text { a.e. in } \mathbb{R}^{N}
\end{gathered}
$$

Let $t>0$ small enough, $\varphi \in D^{1,2}\left(\mathbb{R}^{N}\right)$, we set $u=u_{n}, w=t \varphi \in D^{1,2}\left(\mathbb{R}^{N}\right)$ in Lemma 2.5, then we have $f_{n}(t)=f_{n}(t \varphi)$ with $f_{n}(0)=1, f_{n}(t)\left(u_{n}+t \varphi\right) \in \mathcal{N}_{\lambda}$. Note that

$$
\begin{equation*}
\left\|u_{n}\right\|^{2}-\lambda \int_{\mathbb{R}^{N}} g(x)\left|u_{n}\right|^{1-\gamma} d x-\int_{\mathbb{R}^{N}} \phi_{u_{n}}\left|u_{n}\right|^{2^{*}-1} d x=0 \tag{2.4}
\end{equation*}
$$

From 2.3, it follows that

$$
\begin{align*}
\frac{1}{n}\left[\left|f_{n}(t)-1\right| \cdot\left\|u_{n}\right\|+t f_{n}(t)\|\varphi\|\right] & \geq \frac{1}{n}\left\|f_{n}(t)\left(u_{n}+t \varphi\right)-u_{n}\right\|  \tag{2.5}\\
& \geq I_{\lambda}\left(u_{n}\right)-I_{\lambda}\left[f_{n}(t)\left(u_{n}+t \varphi\right)\right]
\end{align*}
$$

and

$$
\begin{aligned}
& I_{\lambda}\left(u_{n}\right)-I_{\lambda}\left[f_{n}(t)\left(u_{n}+t \varphi\right)\right] \\
&= \frac{1-f_{n}^{2}(t)}{2}\left\|u_{n}\right\|^{2}+\frac{f_{n}^{2\left(2^{*}-1\right)}(t)-1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{\left(u_{n}+t \varphi\right)}\left|u_{n}+t \varphi\right|^{2^{*}-1} d x \\
&+\lambda \frac{f_{n}^{1-\gamma}(t)-1}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)\left|u_{n}+t \varphi\right|^{1-\gamma} d x+\frac{f_{n}^{2}(t)}{2}\left(\left\|u_{n}\right\|^{2}-\left\|u_{n}+t \varphi\right\|^{2}\right) \\
&+\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}}\left[\phi_{\left(u_{n}+t \varphi\right)}\left|u_{n}+t \varphi\right|^{2^{*}-1}-\phi_{u_{n}}\left|u_{n}\right|^{2^{*}-1}\right] d x \\
&+\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)\left(\left(u_{n}+t \varphi\right)^{1-\gamma}-u_{n}^{1-\gamma}\right) d x .
\end{aligned}
$$

Combined with 2.4 and 2.5, dividing by $t$ and letting $t \rightarrow 0$, we obtain

$$
\begin{aligned}
& \frac{\left|f_{n}^{\prime}(0)\right|\left\|u_{n}\right\|+\|\varphi\|}{n} \\
& \geq-f_{n}^{\prime}(0)\left\{\left\|u_{n}\right\|^{2}-\lambda \int_{\mathbb{R}^{N}} g(x) u_{n}^{1-\gamma} d x-\int_{\mathbb{R}^{N}} \phi_{u_{n}}\left|u_{n}\right|^{2^{*}-1} d x\right\} \\
&-\int_{\mathbb{R}^{N}}\left(\nabla u_{n}, \nabla \varphi\right) d x+\int_{\mathbb{R}^{N}} \phi_{u_{n}}\left|u_{n}\right|^{2^{*}-3} u \varphi d x+\lambda \int_{\mathbb{R}^{N}} g(x) u_{n}^{-\gamma} \varphi d x \\
&=-\int_{\mathbb{R}^{N}}\left(\nabla u_{n}, \nabla \varphi\right) d x+\int_{\mathbb{R}^{N^{N}}} \phi_{u_{n}}\left|u_{n}\right|^{2^{*}-3} u \varphi d x+\lambda \int_{\mathbb{R}^{N}} g(x) u_{n}^{-\gamma} \varphi d x
\end{aligned}
$$

so, we obtain that for $\varphi \in D^{1,2}\left(\mathbb{R}^{N}\right), \varphi \geq 0$, it holds

$$
\begin{align*}
& \int_{\mathbb{R}^{N}}\left(\nabla u_{n}, \nabla \varphi\right) d x-\int_{\mathbb{R}^{N}}\left[\phi_{u_{n}}\left|u_{n}\right|^{2^{*}-3} u+\lambda g(x) u_{n}^{-\gamma}\right] \varphi d x  \tag{2.6}\\
& \geq-\frac{\left|f_{n}^{\prime}(0)\right|\left\|u_{n}\right\|+\|\varphi\|}{n}
\end{align*}
$$

Since the above inequality holds for $-\varphi$, it follows that

$$
\begin{aligned}
& \int_{\mathbb{R}^{N}}\left(\nabla u_{n}, \nabla \varphi\right) d x-\int_{\mathbb{R}^{N}}\left[\phi_{u_{n}}\left|u_{n}\right|^{2^{*}-3} u+\lambda g(x) u_{n}^{-\gamma}\right] \varphi d x \\
& \leq \frac{\left|f_{n}^{\prime}(0)\right|\left\|u_{n}\right\|+\|\varphi\|}{n} .
\end{aligned}
$$

Set

$$
\left\langle J^{\prime}(u), \varphi\right\rangle=\int_{\mathbb{R}^{N}}(\nabla u, \nabla \varphi) d x-\int_{\mathbb{R}^{N}} \phi_{u_{n}}\left|u_{n}\right|^{2^{*}-3} u \varphi d x-\lambda \int_{\mathbb{R}^{N}} g(x) u_{n}^{-\gamma} \varphi d x
$$

consequently 2.2 holds. As in 31, we can prove that $\left\{f_{n}^{\prime}(0)\right\}$ is bounded for all $n$. The proof is complete.

Lemma 2.7. Supposes $\left\{v_{n}\right\} \subset \mathcal{N}_{\lambda}^{-}$is a minimizing sequence for $I_{\lambda}$ with

$$
\alpha_{\lambda}^{-}<\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}} \quad \text { where } \quad D=D\left(N, \gamma, S,|g|_{\frac{2^{*}}{2^{*}+\gamma-1}}\right)
$$

Then there exists $v_{*} \in D^{1,2}\left(\mathbb{R}^{N}\right)$ such that $v_{n} \rightarrow v_{*}$ in $D^{1,2}\left(\mathbb{R}^{N}\right)$ and

$$
\int_{\mathbb{R}^{N}} \phi_{v_{n}}\left|v_{n}\right|^{2^{*}-1} d x \rightarrow \int_{\mathbb{R}^{N}} \phi_{v_{*}}\left|v_{*}\right|^{2^{*}-1} d x
$$

as $n \rightarrow \infty$.
Proof. Let $\left\{v_{n}\right\} \subset \mathcal{N}_{\lambda}^{-}$be a minimizing sequence for $I_{\lambda}$, similarly to the proof of Lemma 2.6. one obtains

$$
\begin{equation*}
-\frac{\left|f_{n}^{\prime}(0)\right|\left\|v_{n}\right\|+\|\varphi\|}{n} \leq\left\langle J^{\prime}\left(v_{n}\right), \varphi\right\rangle \leq \frac{\left|f_{n}^{\prime}(0)\right|\left\|v_{n}\right\|+\|\varphi\|}{n} \tag{2.7}
\end{equation*}
$$

Since $\left\{v_{n}\right\}$ is bounded in $D^{1,2}\left(\mathbb{R}^{N}\right)$, there exist a subsequence, still denoted by itself, and a function $v_{*} \in D^{1,2}\left(\mathbb{R}^{N}\right)$ such that

$$
\begin{gathered}
v_{n} \rightharpoonup v_{*}, \quad \text { weakly in } D^{1,2}\left(\mathbb{R}^{N}\right), \\
v_{n}(x) \rightarrow v_{*}(x), \quad \text { a.e. in } \mathbb{R}^{N}
\end{gathered}
$$

as $n \rightarrow \infty$. We firstly claim that

$$
\int_{\mathbb{R}^{N}} g(x) v_{n}^{1-\gamma} d x \rightarrow \int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x
$$

In fact, by Hölder's inequality and the boundedness of $\left\{v_{n}\right\}$, it holds that

$$
\begin{aligned}
& \left|\int_{|x|>m} g(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x\right| \\
& \leq \int_{|x|>m} g(x)\left|v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right| d x \\
& \leq \int_{|x|>m} g(x)\left(\left|v_{n}\right|^{1-\gamma}+\left|v_{*}\right|^{1-\gamma}\right) d x \\
& =\int_{|x|>m} g(x)\left|v_{n}\right|^{1-\gamma} d x+\int_{|x|>m} g(x)\left|v_{*}\right|^{1-\gamma} d x \\
& \leq\left(\int_{|x|>m} g(x)^{\frac{2^{*}}{2^{*}+\gamma-1}} d x\right)^{\frac{2^{*}+\gamma-1}{2^{*}}}\left|v_{n}\right|_{2^{*}}^{1-\gamma}+\left(\int_{|x|>m} g(x)^{\frac{2^{*}}{2^{*}+\gamma-1}} d x\right)^{\frac{2^{*}+\gamma-1}{2^{*}}}\left|v_{*}\right|_{2^{*}}^{1-\gamma} \\
& \leq C\left(\int_{|x|>m} g(x)^{\frac{2^{*}}{2^{*}+\gamma-1}} d x\right)^{\frac{2^{*}+\gamma-1}{2^{*}}} \\
& \rightarrow 0, \quad \text { as } m \rightarrow \infty,
\end{aligned}
$$

which implies that for any $\varepsilon>0$, there exists $N_{1}>0$ such that

$$
\left|\int_{|x|>m} g(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x\right|<\frac{\varepsilon}{2}, \quad \text { for each } m>N_{1} .
$$

Let $\mathcal{M}=\left\{x \in \mathbb{R}^{N}:|x| \leq N_{1}+1\right\}$. Note that $\left\{v_{n}\right\}$ is bounded in $D^{1,2}\left(\mathbb{R}^{N}\right)$, then $\left(\int_{|x| \leq N_{1}+1} v_{n}^{2^{*}} d x\right)^{\frac{1-\gamma}{2^{*}}} \leq M^{\prime}$ for some $M^{\prime}>0$. Moreover, from absolute continuity of the Lebesgue integral, for every $\varepsilon>0$, there exists $\delta^{\prime}>0$ such that for each $E \subset \mathcal{M}$ with meas $E<\delta^{\prime}$, it holds

$$
\int_{E} g(x)^{\frac{2^{*}}{2^{*}+\gamma-1}} d x<\left(\frac{\varepsilon}{M^{\prime}}\right)^{\frac{2^{*}}{2^{*}+\gamma-1}}
$$

Consequently,

$$
\int_{E} g(x) v_{n}^{1-\gamma} d x \leq\left(\int_{E} g(x)^{\frac{2^{*}}{2^{*}+\gamma-1}} d x\right)^{\frac{2^{*}+\gamma-1}{2^{*}}}\left(\int_{E}\left|v_{n}\right|^{2^{*}} d x\right)^{\frac{1-\gamma}{2^{*}}}<\varepsilon
$$

Hence $\left\{\int_{|x| \leq N_{1}+1} g(x) v_{n}^{1-\gamma} d x, n \in N^{+}\right\}$is equi-absolutely-continuous. It follows easily from Vitali Convergence Theorem that

$$
\int_{|x| \leq N_{1}+1} g(x) v_{n}^{1-\gamma} d x \rightarrow \int_{|x| \leq N_{1}+1} g(x) v_{*}^{1-\gamma} d x, \quad \text { as } n \rightarrow \infty .
$$

That is, there exists $N_{2}>0$ such that

$$
\left|\int_{|x| \leq N_{1}+1} g(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x\right|<\frac{\varepsilon}{2}, \quad \text { for each } n>N_{2} .
$$

Therefore, from the above inequalities, it follows that

$$
\begin{aligned}
& \left|\int_{\mathbb{R}^{N}} g(x) v_{n}^{1-\gamma} d x-\int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x\right| \\
& =\left|\int_{|x| \leq N_{1}+1} g(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x+\int_{|x|>N_{1}+1} h(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x\right| \\
& \leq\left|\int_{|x| \leq N_{1}+1} g(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x\right|+\left|\int_{|x|>N_{1}+1} g(x)\left[v_{n}^{1-\gamma}-v_{*}^{1-\gamma}\right] d x\right|<\varepsilon
\end{aligned}
$$

for $n>N_{2}$, which implies

$$
\int_{\mathbb{R}^{N}} g(x) v_{n}^{1-\gamma} d x \rightarrow \int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x, \quad \text { as } n \rightarrow \infty
$$

Now, set $w_{n}=v_{n}-v_{*}$, then $\left\|w_{n}\right\| \rightarrow 0$. Otherwise, there exists a subsequence (still denoted by $w_{n}$ ) such that

$$
\lim _{n \rightarrow \infty}\left\|w_{n}\right\|=l>0
$$

From 2.7), letting $n \rightarrow \infty$, for every $\varphi \in D^{1,2}\left(\mathbb{R}^{N}\right)$, it follows

$$
\begin{equation*}
\int_{\mathbb{R}^{N}}\left(\nabla v_{*}, \nabla \varphi\right) d x-\lambda \int_{\mathbb{R}^{N}} g(x) v_{*}^{-\gamma} \varphi d x-\int_{\mathbb{R}^{N}} \phi_{v_{*}} 2_{*}^{2^{*}-2} \varphi d x=0 . \tag{2.8}
\end{equation*}
$$

Taking the test function $\varphi=v_{*}$ in 2.8, it follows that

$$
\begin{equation*}
\left\|v_{*}\right\|^{2}-\lambda \int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x-\int_{\mathbb{R}^{N}} \phi_{v_{*}} v_{*}^{2^{*}-1} d x=0 \tag{2.9}
\end{equation*}
$$

Putting $\varphi=v_{n}$ in (2.7), by the Brézis-Lieb's lemma (see [6]) and Lemma 2.1, it follows that

$$
\begin{align*}
& \left\|w_{n}\right\|^{2}+\left\|v_{*}\right\|^{2}-\int_{\mathbb{R}^{N}}\left[\phi_{w_{n}}\left|w_{n}\right|^{2^{*}-1}+\phi_{v_{*}}\left|v_{*}\right|^{2^{*}-1}\right] d x \\
& -\lambda \int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x=o(1) \tag{2.10}
\end{align*}
$$

It follows from 2.9 and 2.10 that

$$
\begin{equation*}
\left\|w_{n}\right\|^{2}-\int_{\mathbb{R}^{N}} \phi_{w_{n}}\left|w_{n}\right|^{2^{*}-1} d x=o(1) \tag{2.11}
\end{equation*}
$$

Note that $\int_{\mathbb{R}^{N}} \phi_{w_{n}}\left|w_{n}\right|^{2^{*}-1} d x \leq S^{-2^{*}}\left\|w_{n}\right\|^{2\left(2^{*}-1\right)}$; then

$$
l \geq S^{\frac{2^{*}}{2\left(2^{*}-2\right)}}, \quad l>0
$$

On the one hand, from 2.9, by the Young inequality,

$$
\begin{aligned}
I_{\lambda}\left(v_{*}\right) & =\frac{1}{2}\left\|v_{*}\right\|^{2}-\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{v_{*}} v_{*}^{2^{*}-1} d x-\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x \\
& =\frac{2^{*}-2}{2\left(2^{*}-1\right)}\left\|v_{*}\right\|^{2}-\lambda\left[\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right] \int_{\mathbb{R}^{N}} g(x) v_{*}^{1-\gamma} d x \\
& \geq \frac{2}{N+2}\left\|v_{*}\right\|^{2}-\lambda\left[\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right]|g|_{\frac{2^{*}}{2^{*}+\gamma-1}} S^{-\frac{1-\gamma}{2}}\left\|v_{*}\right\|^{1-\gamma} \\
& \geq-D \lambda^{\frac{2}{1+\gamma}}
\end{aligned}
$$

where $D=D\left(N, \gamma, S,|g|_{\frac{2^{*}}{2^{*}+\gamma-1}}\right)>0$ is a constant (independent of $\lambda$ ).
On the other hand, from (2.11),

$$
\begin{aligned}
I_{\lambda}\left(v_{*}\right) & =I_{\lambda}\left(v_{n}\right)-\frac{1}{2}\left\|w_{n}\right\|^{2}+\frac{1}{2\left(2^{*}-1\right)} \int_{\mathbb{R}^{N}} \phi_{w_{n}}\left|w_{n}\right|^{2^{*}-1} d x+o(1) \\
& =I_{\lambda}\left(v_{n}\right)-\frac{2^{*}-2}{2\left(2^{*}-1\right)}\left\|w_{n}\right\|^{2}+o(1) \\
& \leq \alpha_{\lambda}^{-}-\frac{2}{N+2} l^{2} \\
& <\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}}-\frac{2}{N+2} S^{\frac{N}{2}} \\
& =-D \lambda^{\frac{2}{1+\gamma}}
\end{aligned}
$$

This is a contradiction. Therefore, $l=0$, it implies that $v_{n} \rightarrow v_{*}$ in $D^{1,2}\left(\mathbb{R}^{N}\right)$. Note that

$$
\begin{aligned}
0 & \leq \int_{\mathbb{R}^{N}} \phi_{v_{n}} v_{n}^{2^{*}-1} d x-\int_{\mathbb{R}^{N}} \phi_{v_{*}} v_{*}^{2^{*}-1} d x \\
& =\int_{\mathbb{R}^{N}} \phi_{w_{n}} w_{n}^{2^{*}-1} d x+o(1) \\
& \leq S^{-2^{*}}\left\|w_{n}\right\|^{2\left(2^{*}-1\right)}+o(1) \rightarrow 0
\end{aligned}
$$

which implies that $\int_{\mathbb{R}^{N}} \phi_{v_{n}} v_{n}^{2^{*}-1} d x \rightarrow \int_{\mathbb{R}^{N}} \phi_{v_{*}} v_{*}^{2^{*}-1} d x$ as $n \rightarrow \infty$. The proof is complete.

Theorem 2.8. Under the assumptions of Theorem 1.1, system (1.1) has a positive ground state solution $\left(u_{\lambda}, \phi_{u_{\lambda}}\right) \in D^{1,2}\left(\mathbb{R}^{N}\right) \times D^{1,2}\left(\mathbb{R}^{N}\right)$ with $I_{\lambda}\left(u_{\lambda}\right)<0$.

Proof. There exists a constant $\delta>0$ such that $\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}}>0$ for $\lambda<\delta$. Set $\Lambda_{1}=\min \left\{\Lambda_{0}, \delta\right\}$, then Lemmas $2.1-2.7$ hold for all $0<\lambda<\Lambda_{1}$. Therefore, there exist a bounded minimizing sequence $\left\{u_{n}\right\} \subset \mathcal{N}_{\lambda}$ of $I_{\lambda}$ and $u_{\lambda} \in D^{1,2}\left(\mathbb{R}^{N}\right)$ such that

$$
\begin{gathered}
u_{n} \rightharpoonup u_{\lambda}, \quad \text { weakly in } D^{1,2}\left(\mathbb{R}^{N}\right), \\
u_{n}(x) \rightarrow u_{\lambda}(x), \quad \text { a.e. in } \mathbb{R}^{N}
\end{gathered}
$$

as $n \rightarrow \infty$. Now we will prove that $u_{\lambda}$ is a positive ground state solution of system (1.1).

Indeed, by Lemmas $2.4,2.7$, we can deduce that

$$
\lim _{n \rightarrow \infty} \int_{\mathbb{R}^{N}} \phi_{u_{n}} u_{n}^{2^{*}-1} d x=\int_{\mathbb{R}^{N}} \phi_{u_{\lambda}} u_{\lambda}^{2^{*}-1} d x
$$

By Fatou's lemma,

$$
\begin{align*}
0 & =\lim _{n \rightarrow \infty}\left\{\left\|u_{n}\right\|^{2}-\lambda \int_{\mathbb{R}^{N}} g(x) u_{n}^{1-\gamma} d x-\int_{\mathbb{R}^{N}} \phi_{u_{n}} u_{n}^{2^{*}-1} d x\right\}  \tag{2.12}\\
& \geq\left\|u_{\lambda}\right\|^{2}-\lambda \int_{\mathbb{R}^{N}} g(x) u_{\lambda}^{1-\gamma} d x-\int_{\mathbb{R}^{N}} \phi_{u_{\lambda}} u_{\lambda}^{2^{*}-1} d x
\end{align*}
$$

Letting $n \rightarrow \infty$ in 2.2 and using the Fatou's lemma again, for each $\varphi \in D^{1,2}\left(\mathbb{R}^{N}\right)$, $\varphi \geq 0$, it holds

$$
\begin{equation*}
\int_{\mathbb{R}^{N}}\left(\nabla u_{\lambda}, \nabla \varphi\right) d x-\lambda \int_{\mathbb{R}^{N}} g(x) u_{\lambda}^{-\gamma} \varphi d x-\int_{\mathbb{R}^{N}} \phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2} \varphi d x \geq 0 \tag{2.13}
\end{equation*}
$$

Now, for any $v \in D^{1,2}\left(\mathbb{R}^{N}\right)$, we set $\Psi=\left(u_{\lambda}+\varepsilon v\right)^{+}$, it follows from 2.12) and (2.13) that

$$
\begin{align*}
0 \leq & \int_{\mathbb{R}^{N}}\left[\left(\nabla u_{\lambda}, \nabla \Psi\right)-\phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2} \Psi-\lambda g(x) u_{\lambda}^{-\gamma} \Psi\right] d x \\
= & \int_{\left\{u_{\lambda}+\varepsilon v>0\right\}}\left[\left(\nabla u_{\lambda}, \nabla\left(u_{\lambda}+\varepsilon v\right)\right)-\phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2}\left(u_{\lambda}+\varepsilon v\right)\right. \\
& \left.-\lambda g(x) u_{\lambda}^{-\gamma}\left(u_{\lambda}+\varepsilon v\right)\right] d x \\
= & \left(\int_{\mathbb{R}^{N}}-\int_{\left\{u_{\lambda}+\varepsilon v \leq 0\right\}}\right)\left[\left(\nabla u_{\lambda}, \nabla\left(u_{\lambda}+\varepsilon v\right)\right.\right. \\
& \left.-\phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2}\left(u_{\lambda}+\varepsilon v\right)-\lambda g(x) u_{\lambda}^{-\gamma}\left(u_{\lambda}+\varepsilon v\right)\right] d x \\
\leq & \left\|u_{\lambda}\right\|^{2}-\int_{\mathbb{R}^{N}} \phi_{u_{\lambda}} u_{\lambda}^{2^{*}-1} d x-\lambda \int_{\mathbb{R}^{N}} g(x) u_{\lambda}^{1-\gamma} d x  \tag{2.14}\\
& +\varepsilon \int_{\mathbb{R}^{N}}\left[\left(\nabla u_{\lambda}, \nabla v\right)-\phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2} v-\lambda g(x) u_{\lambda}^{-\gamma} v\right] d x \\
& -\int_{\left\{u_{\lambda}+\varepsilon v \leq 0\right\}}\left(\nabla u_{\lambda}, \nabla\left(u_{\lambda}+\varepsilon v\right)\right) d x \\
& +\int_{\left\{u_{\lambda}+\varepsilon v \leq 0\right\}}\left[\phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2}\left(u_{\lambda}+\varepsilon v\right)+\lambda g(x) u_{\lambda}^{-\gamma}\left(u_{\lambda}+\varepsilon v\right)\right] d x \\
\leq & \varepsilon \int_{\mathbb{R}^{N}}\left[\left(\nabla u_{\lambda}, \nabla v\right)-\phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2} v-\lambda g(x) u_{\lambda}^{-\gamma} v\right] d x \\
& -\varepsilon \int_{\left\{u_{\lambda}+\varepsilon v \leq 0\right\}}\left(\nabla u_{\lambda}, \nabla v\right) d x .
\end{align*}
$$

Since $\nabla u_{\lambda}=0$ for a.e. $x \in \mathbb{R}^{3}$ with $u_{\lambda}(x)=0$ and

$$
\operatorname{meas}\left\{x \mid u_{\lambda}(x)+\varepsilon v(x)<0, u_{\lambda}(x)>0\right\} \rightarrow 0 \quad \text { as } \varepsilon \rightarrow 0
$$

then, we have

$$
\left|\int_{\left\{u_{\lambda}+\varepsilon v<0\right\}}\left(\nabla u_{\lambda}, \nabla v\right) d x\right|=\int_{\left\{u_{\lambda}+\varepsilon v<0, u_{\lambda}>0\right\}}\left(\nabla u_{\lambda}, \nabla v\right) d x \rightarrow 0 \quad \text { as } \varepsilon \rightarrow 0
$$

Therefore, dividing by $\varepsilon$ and letting $\varepsilon \rightarrow 0$ in 2.14, one gets

$$
\int_{\mathbb{R}^{N}}\left(\nabla u_{\lambda}, \nabla v\right) d x-\int_{\mathbb{R}^{N}} \phi_{u_{\lambda}} u_{\lambda}^{2^{*}-2} v d x-\lambda \int_{\mathbb{R}^{N}} g(x) u_{\lambda}^{-\gamma} v d x \geq 0 .
$$

As $v$ is arbitrarily, consequently, $u_{\lambda}$ is a nonzero negative solution of system (1.1). Note that $u_{\lambda} \in \mathcal{N}_{\lambda}$ and $\alpha_{\lambda}<0$ (by Lemma 2.4), then

$$
\begin{aligned}
{\left[\frac{1}{1-\gamma}-\frac{1}{2\left(2^{*}-1\right)}\right] \lambda \int_{\mathbb{R}^{N}} g(x) u_{\lambda}^{1-\gamma} d x } & =\frac{2}{N+2}\left\|u_{\lambda}\right\|^{2}-I_{\lambda}\left(u_{\lambda}\right) \\
& \geq \frac{2}{N+2}\left\|u_{\lambda}\right\|^{2}-\alpha_{\lambda}>0
\end{aligned}
$$

which implies that $u_{\lambda} \not \equiv 0$. Note that $u_{\lambda} \geq 0$ in $\mathbb{R}^{N}$. By standard arguments as in DiBenedetto [11] and Tolksdorf [27, we have that $u_{\lambda} \in L^{\infty}\left(\mathbb{R}^{N}\right)$ and $u_{\lambda} \in$ $C_{l o c}^{1, \alpha}\left(\mathbb{R}^{N}\right)$ with $0<\alpha<1$. Furthermore, by Harnack's inequality (see Trudinger [28]), $u_{\lambda}>0$ for any $x \in \mathbb{R}^{N}$. Furthermore, we have

$$
\begin{equation*}
\alpha_{\lambda}=\lim _{n \rightarrow \infty} I_{\lambda}\left(u_{n}\right)=I_{\lambda}\left(u_{\lambda}\right) \tag{2.15}
\end{equation*}
$$

Next, we claim that $u_{\lambda} \in \mathcal{N}_{\lambda}^{+}$. On the contrary, assume that $u_{\lambda} \in \mathcal{N}_{\lambda}^{-}\left(\mathcal{N}_{\lambda}^{0}=\{0\}\right.$ for $\left.\lambda \in\left(0, \Lambda_{0}\right)\right)$, then by Lemma 2.2, there exist positive numbers $t^{+}<t_{\max }<t^{-}=$ 1 such that $t^{+} u_{\lambda} \in \mathcal{N}_{\lambda}^{+}, t^{-} u_{\lambda} \in \mathcal{N}_{\lambda}^{-}$and

$$
\alpha_{\lambda}<I_{\lambda}\left(t^{+} u_{\lambda}\right)<I_{\lambda}\left(t^{-} u_{\lambda}\right)=I_{\lambda}\left(u_{\lambda}\right)=\alpha_{\lambda}
$$

this is a contradiction. Hence, $u_{\lambda} \in \mathcal{N}_{\lambda}^{+}$. By the definition of $\alpha_{\lambda}^{+}$, we have $\alpha_{\lambda}^{+} \leq$ $I_{\lambda}\left(u_{\lambda}\right)$. It follows from Lemma 2.4 and 2.15 that

$$
I_{\lambda}\left(u_{\lambda}\right)=\alpha_{\lambda}^{+}=\alpha_{\lambda}<0
$$

From the above analysis, we obtain that $u_{\lambda}$ is a positive ground state solution of system (1.1). The proof is complete.

## 3. Existence of the second positive solution of system 1.1

From [26], For $x \in \mathbb{R}^{N}$, it is well known that the function

$$
\Phi(x)=\frac{\left(\frac{N}{N-2}\right)^{\frac{N-2}{4}}}{\left(1+|x|^{2}\right)^{\frac{N-2}{2}}}
$$

solves

$$
\begin{gathered}
-\Delta u=u^{2^{*}-1} x \in \mathbb{R}^{N}, \\
\|\Phi\|^{2}=\int_{\mathbb{R}^{N}} \Phi^{2^{*}} d x=S^{\frac{N}{2}}
\end{gathered}
$$

Lemma 3.1. There exists $\Lambda_{3}>0$ such that for each $\lambda \in\left(0, \Lambda_{3}\right)$, it holds

$$
\begin{equation*}
\sup _{t \geq 0} I_{\lambda}(t \Phi)<\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}} \tag{3.1}
\end{equation*}
$$

Proof. We are going to give an estimate of the value of $I_{\lambda}$. Observe that, multiplying the second equation of system (1.1) by $|u|$ and integrating, one has

$$
|u|_{2^{*}}^{2^{*}}=\int_{\mathbb{R}^{N}} \nabla \phi_{u}|\nabla| u| | d x \leq \frac{1}{2}\left|\nabla \phi_{u}\right|_{2}^{2}+\left.\frac{1}{2}|\nabla| u\right|_{2} ^{2}
$$

So, if we introduce the new functional $J_{\lambda}: D^{1,2}\left(\mathbb{R}^{N}\right) \rightarrow \mathbb{R}$ defined in the following way

$$
J_{\lambda}(u)=\frac{N}{N+2}\|u\|^{2}-\frac{1}{2^{*}-1} \int_{\mathbb{R}^{N}}|u|^{2^{*}} d x-\frac{\lambda}{1-\gamma} \int_{\mathbb{R}^{N}} g(x)|u|^{1-\gamma} d x
$$

Then, we have $I_{\lambda}(u) \leq J_{\lambda}(u)$ for any $u \in D^{1,2}\left(\mathbb{R}^{N}\right)$. For $t \geq 0$, set

$$
\begin{aligned}
h(t) & =\frac{N t^{2}}{N+2}\|\Phi\|^{2}-\frac{t^{2^{*}}}{2^{*}-1} \int_{\mathbb{R}^{N}} \Phi^{2^{*}} d x \\
& =\frac{N t^{2}}{N+2} S^{\frac{N}{2}}-\frac{t^{2^{*}}}{2^{*}-1} S^{\frac{N}{2}}
\end{aligned}
$$

Then

$$
\sup _{t \geq 0} h(t)=\sup _{t \geq 0}\left\{\frac{N t^{2}}{N+2} S^{\frac{N}{2}}-\frac{t^{2^{*}}}{2^{*}-1} S^{\frac{N}{2}}\right\}=\frac{2}{N+2} S^{\frac{N}{2}}
$$

When $\lambda \in(0, \delta)$, we have $\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}}>0$, which implies that there exists $t_{0}>0$ small such that

$$
\sup _{0 \leq t \leq t_{0}} I_{\lambda}(t \Phi)<\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}} \quad \text { for each } \lambda \in(0, \delta) .
$$

We next consider the case where $t>t_{0}$. Since $\frac{2}{1+\gamma}>1$, there exists $\Lambda_{2}>0$ such that

$$
-\lambda \frac{t_{0}^{1-\gamma}}{1-\gamma} \int_{\mathbb{R}^{N}} g(x) \Phi^{1-\gamma} d x<-D \lambda^{\frac{2}{1+\gamma}} \quad \text { for each } \lambda \in\left(0, \Lambda_{2}\right)
$$

Then, for each $\lambda \in\left(0, \Lambda_{2}\right)$, it follows

$$
\begin{aligned}
\sup _{t \geq t_{0}} I_{\lambda}(t \Phi) & \leq \frac{2}{N+2} S^{\frac{N}{2}}-\lambda \frac{t^{1-\gamma}}{1-\gamma} \int_{\mathbb{R}^{N}} g(x) \Phi^{1-\gamma} d x \\
& \leq \frac{2}{N+2} S^{\frac{N}{2}}-\lambda \frac{t_{0}^{1-\gamma}}{1-\gamma} \int_{\mathbb{R}^{N}} g(x) \Phi^{1-\gamma} d x \\
& <\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}}
\end{aligned}
$$

Set $\Lambda_{3}=\min \left\{\delta, \Lambda_{2}\right\}$. From the above information, it holds that

$$
\sup _{t \geq 0} I_{\lambda}(t \Phi)<\frac{2}{N+2} S^{\frac{N}{2}}-D \lambda^{\frac{2}{1+\gamma}} \quad \text { for each } \lambda \in\left(0, \Lambda_{3}\right)
$$

Therefore, (3.1) holds true when $\lambda<\Lambda_{3}$. The proof is complete.
Theorem 3.2. There exists $\lambda_{*}>0$ such that problem (1.1) has a positive solution $v_{\lambda}$ with $v_{\lambda} \in \mathcal{N}_{\lambda}^{-}$for each $0<\lambda<\lambda_{*}$.

Proof. Let $\lambda_{*}=\min \left\{\Lambda_{0}, \Lambda_{3}\right\}$. Since $I_{\lambda}$ is also coercive on $\mathcal{N}_{\lambda}^{-}$, we apply the Ekeland's variational principle to the minimization problem $\alpha_{\lambda}^{-}=\inf _{v \in \mathcal{N}_{\lambda}^{-}} I_{\lambda}(v)$, there exists a minimizing sequence $\left\{v_{n}\right\} \subset \mathcal{N}_{\lambda}^{-}$of $I_{\lambda}$ with the following properties:
(i) $I_{\lambda}\left(v_{n}\right)<\alpha_{\lambda}^{-}+\frac{1}{n}$;
(ii) $I_{\lambda}(u) \geq I_{\lambda}\left(v_{n}\right)-\frac{1}{n}\left\|u-v_{n}\right\|$ for all $u \in \mathcal{N}_{\lambda}^{-}$.

Since $\left\{v_{n}\right\}$ is bounded in $D^{1,2}\left(\mathbb{R}^{N}\right)$, up to a subsequence if necessary, there exists $v_{\lambda} \in D^{1,2}\left(\mathbb{R}^{N}\right)$ such that

$$
\begin{gathered}
v_{n} \rightharpoonup v_{\lambda}, \quad \text { weakly in } D^{1,2}\left(\mathbb{R}^{N}\right), \\
v_{n}(x) \rightarrow v_{\lambda}(x), \quad \text { a.e. in } \mathbb{R}^{N} \text { as } n \rightarrow \infty
\end{gathered}
$$

Using Lemmas 2.5 2.7 and Lemma 3.1, similarly, we can get that $v_{\lambda}$ is a nonnegative solution of system (1.1).

Now, we prove that $v_{\lambda}>0$ in $\mathbb{R}^{N}$. Since $v_{n} \in \mathcal{N}_{\lambda}^{-}$, it holds

$$
\begin{aligned}
(1+\gamma)\left\|v_{n}\right\|^{2} & <\left(2 \cdot 2^{*}+\gamma-3\right) \int_{\mathbb{R}^{N}} \phi_{v_{n}} v_{n}^{2^{*}-1} d x \\
& <\left(2 \cdot 2^{*}+\gamma-3\right) S^{-2^{*}}\left\|v_{n}\right\|^{2\left(2^{*}-1\right)}
\end{aligned}
$$

so that

$$
\left\|v_{n}\right\|>\left(\frac{(1+\gamma) S^{2^{*}}}{2 \cdot 2^{*}+\gamma-3}\right)^{\frac{1}{2\left(2^{*}-2\right)}} \quad \forall v_{n} \in \mathcal{N}_{\lambda}^{-}
$$

which implies that $v_{\lambda} \not \equiv 0$. Similarly, by Harnacks inequality, we also obtain $v_{\lambda}>0$ for any $x \in \mathbb{R}^{N}$.

Next, we prove that $v_{\lambda} \in \mathcal{N}_{\lambda}^{-}$, it suffices to prove that $\mathcal{N}_{\lambda}^{-}$is closed.
Indeed, by Lemma 2.7 and Lemma 3.1 for $\left\{v_{n}\right\} \subset \mathcal{N}_{\lambda}^{-}$, it holds

$$
\lim _{n \rightarrow \infty} \int_{\mathbb{R}^{N}} \phi_{v_{n}} v_{n}^{2^{*}-1} d x=\int_{\mathbb{R}^{N}} \phi_{v_{\lambda}} v_{\lambda}^{2^{*}-1} d x
$$

By the definition of $\mathcal{N}_{\lambda}^{-}$, it holds that

$$
2\left\|v_{n}\right\|^{2}-\left(2^{*}-1\right) \int_{\mathbb{R}^{N}} \phi_{v_{n}} v_{n}^{2^{*}-1} d x-\lambda(1-\gamma) \int_{\mathbb{R}^{N}} g(x) v_{n}^{1-\gamma} d x<0
$$

thus

$$
2\left\|v_{\lambda}\right\|^{2}-\left(2^{*}-1\right) \int_{\mathbb{R}^{N}} \phi_{v_{\lambda}} v_{\lambda}^{2^{*}-1} d x-\lambda(1-\gamma) \int_{\mathbb{R}^{N}} g(x) v_{\lambda}^{1-\gamma} d x \leq 0
$$

which implies that $v_{\lambda} \in \mathcal{N}_{\lambda}^{0} \cup \mathcal{N}_{\lambda}^{-}$. If $\mathcal{N}_{\lambda}^{-}$is not closed, then we have $v_{\lambda} \in \mathcal{N}_{\lambda}^{0}$, by Lemma 2.2, it follows that $v_{\lambda}=0$, this contradicts $v_{\lambda}>0$. Consequently, $v_{\lambda} \in \mathcal{N}_{\lambda}^{-}$. Note that, $\mathcal{N}_{\lambda}^{+} \cap \mathcal{N}_{\lambda}^{-}=\emptyset$, then $u_{\lambda}$ and $v_{\lambda}$ are different positive solutions of (1.1). This completes the proof.

Acknowledgments. This research was supported by National Natural Science Foundation of China (No. 11661021), and by the Science and Technology Foundation of Guizhou Province (No. LH[2015]7207; No. KY[2016] 163).

## References

[1] A. Ambrosetti, D. Ruiz; Multiple bound states for the Schrödinger-Poisson problem, Commun. Contemp. Math., 10 (2008), 391-404.
[2] A. Azzollini, P. D'Avenia; On a system involving a critically growing nonlinearity, J. Math. Anal. Appl., 387 (2012), 433-438.
[3] A. Azzollini, P. D'Avenia, G. Vaira; Generalized SchrödingerCNewton system in dimension $N \geq 3:$ Critical case, J. Math. Anal. Appl., 449 (2017), 531-552.
[4] V. Benci, D. Fortunato; An eigenvalue problem for the Schrödinger-Maxwell equations, Topol. Methods Nonlinear Anal., 11 (1998) 283-293.
[5] D. Bonheure, C. Mercuri; Embedding theorems and existence results for nonlinear Schrödinger-Poisson systems with unbounded and vanishing potentials, J. Differential Equations, 251 (2011), 1056-1085.
[6] H. Brézis, E. Lieb; A relation between pointwise convergence of functions and convergence of functionals, Proc. Amer. Math. Soc., 88 (1983), 486-490.
[7] G. Cerami, G. Vaira; Positive solution for some non-autonomous Schrödinger-Poisson systems, J. Differential Equations, 248 (2010), 521-543.
[8] G. M. Coclite; A Multiplicity result for the nonlinear Schrödinger-Maxwell equations, Commun. Appl. Anal., 7 (2003) 417-423.
[9] T. D'Aprile, D. Mugnai; Non-existence results for the coupled Klein-Gordon-Maxwell equations, Adv. Nonlinear Stud., 4 (2004), 307-322.
[10] P. D'Avenia, A. Pomponio, G. Vaira; Infinitely many positive solutions for a SchrödingerPoisson system, Nonlinear Anal., 74 (2011), 5705-5721.
[11] E. DiBenedetto; $C^{1+\alpha}$ local regularity of weak solutions of degenerate elliptic equations, Nonlinear Anal., 7 (1983) 827-850.
[12] J. V. Goncalves, A. L. Melo, C. A. Santos; On Existence of $L^{\infty}$-Ground States for Singular Elliptic Equations in the Presence of a Strongly Nonlinear Term, Adv. Nonlinear Stud., 7 (2007), 475-490.
[13] N. Hirano, C. Saccon, N. Shioji; Existence of multiple positive solutions for singular elliptic problems with concave and convex nonlinearities, Advances in Differential Equations, 9 (2004) 197-220
[14] L. R. Huang, E. Rocha, J. Q. Chen; Positive and sign-changing solutions of a SchrödingerPoisson system involving a critical nonlinearity, J. Math. Anal. Appl., 408 (2013), 55-69.
[15] F. Y. Li, Y. H. Li, J. P. Shi; Existence of positive solutions to Schrödinger-Poisson type systems with critical exponent, Commun. Contemp. Math., 16 (6) (2014) ,1450036.
[16] G. B. Li, S. J. Peng, S. S. Yan; Infinitely many positive solutions for the nonlinear Schrödinger-Poisson system, Commun. Contemp. Math., 12 (6) (2010), 1069-1092.
[17] C. Liu, Z. Wang, H. Zhou; Asymptotically linear Schrödinger equation with potential vanishing at infinity, J. Differential Equations, 245 (2008), 201-222.
[18] H. D. Liu; Positive solutions of an asymptotically periodic Schrödinger-Poisson system with critical exponent, Nonlinear Analysis: Real World Applications, 32 (2016), 198-212.
[19] Z. Liu, S. Guo; On ground state solutions for the Schrödinger-Poisson equations with critical growth, J. Math. Anal. Appl., 412 (2014), 435-448.
[20] D. Ruiz; The Schrödinger-Poisson equation under the effect of a nonlinear local term, J. Funct. Anal., 237 (2006), 655-674.
[21] J. Seok; On nonlinear Schrödinger-Poisson equations with general potentials, J. Math. Anal. Appl., 401 (2013), 672-681.
[22] J. Sun, H. Chen, J. J. Nieto; On ground state solutions for some non-autonomous Schrödinger-Poisson systems, J. Differential Equations, 252 (2012), 3365-3380.
[23] J. Sun, S. W. Ma; Ground state solutions for some Schrödinger-Poisson systems with periodic potentials, J. Differential Equations, 260 (2016), 2119-2149.
[24] Y. J. Sun, S. J. Li; Structure of ground state solutions of singular semilinear elliptic equations, Nonlinear Anal., 55 (2003), 399-417.
[25] Y. J. Sun, S. P. Wu; An exact estimate result for a class of singular equations with critical exponents, J. Func. Anal., 260 (2011), 1257-1284.
[26] G. Talenti; Best constant in Sobolev inequality, Ann. Math., 110 (1976), 353-372.
[27] P. Tolksdorf; Regularity for a more general class of quasilinear elliptic equations, J. Differential Equations, 51 (1984), 126-150.
[28] N. S. Trudinger; On Harnack type inequality and their applications to quasilinear elliptic equations, Comm. Pure Appl. Math., 20 (1967), 721-747.
[29] H. T. Yang; Multiplicity and asymptotic behavior of positive solutions for a singular semilinear elliptic problem, J. Differential Equations, 189 (2003), 487-512.
[30] J. Zhang; Ground state and multiple solutions for Schrödinger-Poisson equations with critical nonlinearity, J. Math. Anal. Appl., 440 (2016), 466-482.
[31] Q. Zhang; Existence, uniqueness and multiplicity of positive solutions for SchrödingerPoisson system with singularity, J. Math. Anal. Appl., 437 (2016), 160-180.
[32] L. Zhao, F. Zhao; Positive solutions for Schrödinger-Poisson equations with a critical exponent, Nonlinear Anal., 70 (2009), 2150-2164.

Chun-Yu Lei (Corresponding author)
School of Sciences, Guizhou Minzu University, Guiyang 550025, China
E-mail address: leichygzu@sina.cn
Hong-Min Suo
School of Sciences, Guizhou Minzu University, Guiyang 550025, China
E-mail address: 11394861@qq.com
Chang-Mu Chu
School of Sciences, Guizhou Minzu University, Guiyang 550025, China
E-mail address: 372382190@qq.com


[^0]:    2010 Mathematics Subject Classification. 35J60, 35J75, 35J30.
    Key words and phrases. Schrödinger-Newton system; critical exponent; singularity.
    (C) 2018 Texas State University.

    Submitted January 16, 2018. Published April 10, 2018.

